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Passage:

bt i Tt ufdan wami e ma: Sfaary Sw e freal

TR o URER PRI Srargeran Hriq | Tt ag Baraf Sree| aaHiy reTt gRar o fawart Aiaagan: s @ T Tar srargedn Tt NUY: gtk Sead GauaT YSarg Ird 9r
UTGTHTe: HEIH RN A" |

T AT TP Wrfad- “wr: i TiREeger 39 Ak moag 31 i awan: ariAn srfigaadt | SRy WHI 9 ST ARG a9 39 I T 93w GUuSTR YSar 9 S aIeHan | I Bart HR dig
| aifr B fatorfy sia | sregerr Rt RiwIger svad |

1 GRIY Tefaa- A | HEn aq Wit degReid Suan 7E SR Sran]” 3R | O 4T ST Ui Segaan sidad | “HEags! e o TaHTasT: ey Sl | 9y dery Tyl 7 43 | ad: gaam off
o gYIgd Ha" 3fa Yafawrii Ui Srededn JpT SiMaq |

Q.No: 1 TS: gai: Iode YUUSIY Yarg I3y A=< foasfal s feramfian?

A GeferaT: |

B e |

C S{ATgeTd™T: |
D PRI |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hhet:— fefiferad et ufdear v Reeaamara: Sfaamy Sw e frad|

ST TeR IR Pifad sregern i | T a5 weraf S| drHid s giar quilf favard Tikdsegen: s 1 T el Srargadl TR Nu: 94 Svad QR Y&ar] A Ar
UTETHT: HEH T A |

T AT UGTHIGR Wrfad- “Ara: AW MkGager 39 Skt uoag sfal vefa: awn: A sigigaadt | SRieg: WHIK 91 |l AIRGege 39 It U a3 el YEar] 9 Sigyd QvEaT | TR Al HR dig
| gaffor wenf~ oy sia | srargerr ARl RMeigar sivaq |

N GRI wefad- A | A i dedRia Suar TE SR ST 3 1 9 Yo e Wl Segaant Seed) “HeErgs! St 7on: TutasT: ey S| 3g Sy wef 7 43q | g S ami off
© gurgd ¥a" 3fT gataRIl T SRR g SiMad |

Q.No: 2 1 Yo YpfadTaR | 1 12

A FESAT
B Sargal
C REsiaein]
D NUST I

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Hohcl:— e Tt ufewn Wyt e ra: Sfaam Sw e fral

SR e uRER Ffaq sl il | gt S paraf e aeHiy erer g gl fxart ieegen: e O T el sregal Tanfad uy: gt Svad QUSRI Year IHd Ir
UTETEI: W aeRT: S|

1 HaT YHfaTaR Wiad- “ara: AW TiRdeger 39 Sakd woag sl wefa: an: arin sifledad! | srieg: uH o MRSGege 39 Jafd U ad=s QESR YEa 9 Sd dIvHa | W Bari HR dig
| GOy et fdoy Srvae | iRt Rl e Svad |
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1 GRA wefaa- e | Har aq Wil degfiaia $uaT B SRy SR 3R 1 O gt Sapt ek Srgea siaed) Adage) SsifaEr qon: wuias: ey S| Y saft wuf T 43 | a9 adumfy Sif
o TuTgd 9" 3fa yafawyl UIT Sredadr T SHad |

Q.No: 3 Jafd UIaq) &: WHR:?

A <l
B el
c el
D =

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Yok~ Hfeifad et ufdcar v fRTeaemmiora: Sfaae s far frgal

Wmmaﬁgamm|mmwﬁm|mmmwmmw S| T €T Pl SAgdl Taadaed “US: 3&: Ioae GauPpRi sdrg, agyd IF
TTETaI: FE FaRT: S aa”|

T HIAT UHTHIR wrfad- ~ara: Ay RGager 3a Iafd g il v awn: mdAn srigaadt | SRigg: WU 1 Al ARGeqe 39 Il Tl a3 QUSRI YGar 9 YT AvEar | )R Bari UK dig
1 gaffor e ol e | srigerd FRi Shegar enEd |

1 R wefad- T | T g wifd degfadd Fuar o SRy e 3 | o gt SeT Ui srgear saed) Hdiagst shfaa 1o wWuras: fmny S| Y st wul T wadq | ga: adumfy Shf
o gugd 9" 3f EaRI YT SRR gt SrHad |

Q.No: 4 SR a7 3l W ug fvmpe

A 3|
B |
c ailg:l
D BH

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Hbat:— e Tt ufdar wymi Reeasa: Ifaary Sw far fraal

TR e URER PRI SAGedt A | a7 a5 Baray 6| dEH S1dTRr gRar guif fawart Tiaragen: S| @i £ Tarid srageadl Tt "Uy: & Svad GauaTi YSar, ard ar
UTgTHTe: I JORE: A" |

T AT TSR URAAd- “A1a: AW TIRGegel 39 Said I9ag 3id ) Ui: T9n: TRAR Sigigpaadt | 3R1eg: WU §1 9T AIRGTqe 39 S Ul 33 GEual YSarg 9 gy aaa | I Bami UK dig
| Fifor wenfy fadoff sivar 1 errgerdr Rl RMeIper sivad |

1 GRA Tefad- “a: | T ac Wil degfieia Suan Be SR erar” 3R | ad g ST Ui Sergaand saedl “Hags! st o sauras: Ry Sl | 9y et Wyl 7 4aq | gd: gamfy off
o gyrgd 9" 3fa qalawit VI Sregadn AgpT SiHaq |

Q.No: 5 =Y - fagared o forad|

A T Ffa quml
B Ec ezl
c Ecakitictdl

D TYTRTAT BT
Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Y- el e ufdar wami fawedreres Reg: Ifdar S e foral

HT TeR IR Pifad srgern SR | T a5 B o) dHiy serd siar guilf fovard Tikdegen: sram| 9 T Palfte Srargadl TaRfaad Nu: gg: Svac QPR YEar] I Ah
UG TEH I S|

T HAT YHTHRR Wfad- i AW AiRkEeger 39 Akt woag 3 weia: awan: wAn srfiaad! | srieg: wHI | o AIRGege 39 Jef T a9 QUueTR YEar 9 Sigid AvHa | R Bami HR dig
| aifr waf Aoy sivae | sregerr Rt SiTgar sivad |
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1 gRI wefad- A: | A Wi degfeia $uan h SR AT 30 | A9 4o el Ul Sgaan Sae) “HErge! Sifar 7on: @uiasT: iy Sl 9y Sy wef 7 43q | g sdamf oif
 gurgd 3" 3fq qafawit U Srargear et SiHad |

Q.No: 6 HT:! T gq Wi dagfaia | aream weieAus fua gl

A e
B I
c e
D RiEael

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

- Sl Teiet ufean wumt fReedere via: Ifdan SW e freal

HRIE e uRER FIfaq Sl il | aat 9 Barafy S| aeHiy erer giar guiff fawart ikeegen: S| O T St sremcal Tt NuY: g Svad YUuST Yeary Irgd Ar
TTETaIe: TR FeR: SyEd”|

T HFAT UGTaHTaR Wiad- “Ar: AW ARkEGage 39 Iaki aHag sl Ueia: TR IR srigaad! | 3Gy UHIA 91 a1 ARG age 39 SAfd Ul 93w QUSRI Y[sar] 9 @ dvHad | TR HaFi YR dig
| Fatfor went o siya | srager Rl Reigan sivad |

1 gRI wefad- A | aq i defieia $uaT T SR ST 3 1 O 4o et Ul Sgaan Sad) “HeEgs! S 7on: wauas: ey i) 3y sy wef 7 43q | ga: a3y off
< gugd 9" 3fa qafawit U Srargerr et Sivad |

Q.No: 7 JuIgd ¥d - HGuS; 2

A il
B Gl

c el
D T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T st weri=t ufdan wami fawedrers orea: Ifaars Sw R foral

DT ToR IR P Sregerd SR | T T5F Bera | TEHIT SIS gRan quiif R Tiega: S| a1 T $al Sgadl TR " 34 Svad Qaue Rl J&ar JIgHd |r
UTETET: HEH FRE: A |

[T AT UHfAmIaR urfad- A amf kbager 3a Safkd umag sfa ) vafa: awr: wriAn srgiedaadt | sRieg: Ty a1 |ar kdege 39 Iafd uar a3 el YEar] 9 Syd AvEar | I Bari R dig
1 oy e fodiofy i | ergarar FoRT e sivad |

T GRIY yefad- “Aw: | Har aq nild degfia Suar mE SRy Ay 3R | adq gt et Ui Seeaan sided| “Hags! st qon: sauras: fiEr sicdr | Iy Sefy Wyl 7 4dq | ga: gaamiy off
o guIgd 9" 3fa Yol T SRR Trgel SIHad |

Q.No: 8 ¥aT - o7 faufde?

A fecitan
B o]
C =g
D gt

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T Siehfafed ezl ufdar wamr fasarasreg: iaasr Iw i foeal
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~ =~ _~ o~ =~ _~

ZrarErsia Fiearsto wafzmarsi

oo s~

[ o > 0
e fafgdrednstn
EEUEGESMERIERIsCIESIGET

A picE
B I
C Rl
D &

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T&a:- el et ufar uymt fAeeraeme: Sfhdarm Sw e el

Framaaae farfgaearstn

RSP ECE R RIE R

BEUECREMUEICIEE RO ESIG ]

Q.No: 10 HEEEM T I ?

A e
B T
C KiR2ICIG
D e

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

bt Heifafad genist ufdan uymi Reeasreg: Sfradey S fw foadl

FEmeaaa e
EENP R RUEIRIEE EUES 1G]

Q.No: 11 &Y URISfIERN 7 TN ?

A ATy
B ey

c YWY
D Sy

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:
e Sielfafed el ufdan wami fisardeig: 3iadar W fawr forgal

g fEfEdrearst

TEEq AT g AT T

EELEEERMEICIER IR eI

Q.No: 12 3f¥H veie TR waraws fb o aeld 2

£y,
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X

A

B Sifafer:
C fom:

D fRugmi:

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

bt Hfeifafad Teiy ufdan vyt faseemma: Ifaar S fwr ol

[EEIEEIEE LA CINIERINE]

TR AT g A AT

BEUECESEEIRIERIseIESICRT

Q.No: 13 ¥ xqP foame e

A afa
B foparg
c g
D &

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

G- el geit ufdar uymi fserereorg: SRdary I R frgdl

Lo

ZTATHRLISY FieaATso Fafsarsty
Frareamaa fafgarearsth
EELERERIUEICIER IR ES IR

QNo: 14 sremrar 3y were Fise:?
A frar

B g

C qu=:

D i

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:

Gba:- el gest ufswan uymT fAseararsed: Sfaarm Sw faar el

Frameamaae fefgarearsth
FATEI O T =TT #4711

Q.No: 15 5l -HRId®E Fed |

A Tqs+Tdl
B e+
[o] e+ TqUT
D TS+ 3T

Correct Ans : C
Subject : Sanskrit Bhasha 02
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Q.No: 16 'Gefl: 3rHTH .... Wi-r'-RaawH fed ue fom?
A o

B o
c fenfor
D iy

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 17 9 30 &: U44:?

A f#q
B T
c wq
D i

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 18 g 3fd vew @isd?

A T
B Pt
C [EUE
D I

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 19 HRT W4T T - T Foal

A STEET:
B STga:

c STgang:
D Agay

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 20 g ufg IR X' 37 Fqug fF Haqe
A |

B o
c 3%
D YA

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 21 #EiSf 3f ugw wf-fawe: #2

A TET+ 3t
B TET+35l
c TR+
D A=+l

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 22 arferuiiaurgy ¥ &: fawon wafa?
A e

B i
C El
D "

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 23 qiiarer' 3fd ug &: Jue:?

A TgHife:
B qGE:
(o] SUUCHAN:
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D FHURG:
Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 24 Y UG FERIREAY ®: UHESR Al 2

A 5 SAIGH AERUTHMAT T6H |

B THH RRTERURS SR STHROIGH |

c FeHITOR ERUNISTY 3 FEHMAT SIRpR: Haq |
D HTEY STBRUTATHFT YIS+ UL ISTERVMMOH |

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 25 yurar: sifmred o i meagufy 2

A ST

B Siftew ufr wgfr:
c AR

D e

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 26 ST TwT MIIRI&T iR | 1 Rl eam e a9 TeTMiHRIsEFT T HTeR0 B S RIS | T GorH1/gsia: IRa----

A famom: i

B REEIGENE
C RECH ST
D gt sfa

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 27 HISTGE: WHRI- 3T I g Aaiiie-Iugad: Ue: Hie: Hafd?
A Ferners:

B fawarE®: (Objective type)
c 3fATY-FRIAS:
D Ei-IwIdD:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 28 U IGIHRIRIET:

A ST HeamT TegE 7 srffRufton
B TR ST RO

c IS SARUNRIAT faRony

D BHE GSTBINHIETH
Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 29 ur-3iftprarf aiftgfamivRadr: smaxawate

A RS S dafigd uRaat sigHar 9 fird: 98 eeH weH 7
B R ol o = e Fi

c GEFaHIER T AT STFIAER:

D e S F1 9

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 30 IAHTE<Y NPHURIRT daTE dlHS Tiied b
T 98 9g: S| dpaYEiead aa-eted o1 oy shead?

A eIA-W S ¥ HIEIS |

B i fFwlazawong

c - yrarES wlafear

D 3 Sfgwlazat < T yarEs wiifsar

Correct Ans : A

Subject : Sanskrit Bhasha 02
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Q.No: 31 & Heaic &1 waeH fait ke sifrm uftsar & Sded1sil &) Wy H3A1 gl 8, @ U1 geaioe... .. i Hgard gl
A AR

B Fwfores
C TS
D [ERbEIcEa

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 32 = # 9 sparg ot s F 759 wew TeT & omar 82

A g @Y

B ferest &t

C TR a7 Bt
D g FA B

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 33 =1 # &y et 3R urer & SR & W g
A 3 i S §1

B i feraR-fomsf @ e Y 81

c T &1 R T R1

D QY A depeae il €1

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 34 wdew 3 arRafds W A gd Iva! IR SiF R o T1fRY, 39 YR S @1 e § 9 @1 Hed 82
A uiaee ©St

B Gepwor
C YEraTeA ARy
D st fafy

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 35 e & & urw =t Rign & arfa g &1 1 onf @2

A Srugd® saur

B FId HFYESD Hau

C Faa @ squr

D FYES HaUT S TY-T1Y @G 4aqor

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 36 =1 & ¥ aras & Taii, T, Hidt 7 AUt § 31w § 2

A AR e

B AR Gy

c s ey

D HHI & WY-TR NG ey

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 37 = & & Bl &I i Wen & o femaa & Frafafea frama ! § 3 fewe v et fean s e 2
A o fafr

B qrdteng
c TRt
D et

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 w1 W &
A % Prones o ¥
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B T S I &

C Ry uE g

D RN U THHH A
Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 39 9T q9 Ted Few iR Jyid & & Ireft ot § 51

A HTST RI&E FOR AT TR §

B HTST YRENT T GEr T 9 B

C T T UTST-Te | ofie & il Urdt w1 Haw 8
D TS % e S FRIT Y

Correct Ans : B

Subject : Hindi Bhasha 01

Q.No: 40 2= =t Ten & yr: R<GR vl 7= R=< Trem & sP® Hf3rsal &1 91 ava § Fifas
A R e ¥ Ry I ol B R

B &t vga Ffo7 umwr &
c 3 7 e R T e
D wra: R IR STt I ) e # SR T ®

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 41 g & § T ameor Rigor o fafy 7€ 82

A foraTa fafy
B 3w fafy
o yeaef HreT fRugfor fafy
D guar [y

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 42 &faar o1 ayrdf gevis B far wiar 82

A T HOTTeRt GRT

B BIEt ARt ERT
C IR HUTER GRT
D TEite woreht gRT

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 43 =t 1191 ¥ Faie[ 3R S AHTH BT IR T oI © [

A T e e A FRTT FA

B T T TRl A

C o3t I STelt HeT § Wit far g Sriat et
D RHFI TR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

e - faT e wIiw 1 ggaR g MU Ul & e Ifd IRk arl fawed &1 9 Sifene-

WRAG Tre & T St Ry Tega el € 71 SRl uer § S iy W T § A Aoue § I 3@ Fel T 71 el F WHRI 1 919 o Mokl Bt 7, 7 I A O o au 3t Qe wla @
STRIaH! ¥ I e ST Sl g1 o: Rufa gdaq & &+t 3 e Rufa oS ol § o oft Ierh g8 § ok fawn erue B, Fiifes we &% v @) ufdndt oA F S T dewy wneRiGtd 2P 39 e # 9 %
o 3 fRufa ik vmifal vgd oo Ry, IREIte 7 Siia RS TR SR 31 T € o 3Rt €t driifes fRufa & Jfia (e = ) o8 aguads uRkar J i & 9ia § ik 39 sifier e €13
I FRufa Trree 6 THeRIRGT 2 3 faftmrareht @1 Yaifea $dl 31 TR g4 17 @1 § 6 o0 ufdd) Ot & smirgexur @1 ol wifd AF 98 §) Al @1 sifdarg ufde 3 @1 ufararg @ of
TR SR g Tt o o e S8 G e I S @i 91 B @ T I7 e fame A 31 R SR It il oiR Rl 3 orgey $E wed, g Fowre femm fuffa e fm, R

fe 5 “whiare’ @1 o ufkar diean a1 I fges am 78 8 R 7 € 3iog 81 &1 Haad I § &5 3iRa 9iRd 7 32, T SR J5T 39 Sr<iad @I 9 3@ ¢

Q.No: 44 JUa TGN ¥ TR THERIRG =P TR 31 & Tl 3t R & foou 7 31 IorR Feft © 2

A Rt 1 g & wfy w3 w7 &0
B ol &1 R-UOR & v salle ¥
c TR @1 TR <o g

#0Opt
D

Tl 2t Rufey o 311 41 1 &1, IEIR® SR R WeERmel | flk @xar 31

Correct Ans : D
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Subject : Hindi Bhasha 01

Passage:
= <9 fau U TR 1 ugeR g T U & 9ed 3 IR I fawed @1 9 sifvn-

YR TS & TR @5t Ry weme Rl 8 81 SR uer § S iRy 7 T} A Aode ¥ I @ gl T 31wl F WeRl 31 oIS 3o Mo Bkt 7, 7 3% A @ go ol 3t Qafve wla @
STEIaE! Y I famar ST addr g1 ofd: Rl gdaq & &t 1 a Rl oS o § o oft Ieh g% % ok famm erue B, Fifes el o) wkA @1 ufdndt o & @ mm dewy wHeRIRGT €@ 39 aR § 96 )
ot 7t Ry SR T 950 o WM, TQIRie 3 i wReRre TR SR §1 T 8 o SR Ue d i Rl F e (Rl wea 7)) od Aigeeiere uRar # w0 € 9 @ ok 39 sfieR wa €1 9
I Rl T | eI 2P g faftmrarell @ Xaifdea $dl 31 THRT guie 17 o1 § 5 g ufdnft 3 & s 3 erelt wifd Am 4% ¥ diafer @1 sifdare ufdedt 3 @ uRararg @t of
TR SR g TRt o S SR S Ui SEie Bl S Bl 81 § O §1 I8 e faxme A 31 Wi ofR et il SR fRufdl % ofgey 3 wey, 18 woue fmm fuffva e fa, e R
faru & wllare o1 o ufvar e a1 armferes fage am =1 @ iR 7 € oiog 817 31 Hacs 8 § 95 IR oiRd 71 R, T 9197 Ugl 39 SAEIH B I¢ 3@ 71

Q.No: 45 FAfifla # J gaR 3 # onft d& TR 9 RUfa & Iecietg ur i =1 91 uran 2

#0pt
A

&l &1 w0 wwa & sterfa farg & s
B Tt =1 Rie & 4= % w7 36 S
c Ruerifa =1 et & fawg @M

D U5 Y TR O FU TR M PR 9 Fp1ae 9 2

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

g N T T TR B UgeR U U URAl & Iad S IR T [dwed 31 9 Pifv-

RN T & AR @) Rufy wae fRurragyl 38 31 Wl uer & I wfd AR 3 A Aeuy ¥ I e wgl T 31 Wil F WeR 31 98 3o+ et Bkl B, 6 3% A O oo aul 9 Qale wnfa @
SR & I3 foam S gedl g1 3id: R gdad @ o 8 g Rufa oS wmell & o off Sash g § ok faxn oru 7, T It o= v ) ufde SmsA # e T de SRR 2 59 IR A 6 @
&t 1 RURY &R TR wgd $o R, MeRis 3 S wrRrsl R suiid 81 T @ o ok te & Wiifvs IR & fiaz (R 3oy ) 8 mgecrere oRar & w0 § g § o 39 fter ww §1 e
I RUfa TrFeS 8 THTeRIRGr € 39 faftmrareht @1 Yaifea Xt 31 TR g4 17 71 § 5 o0 ufdefl ot & SRigeRo 31 o wifa A 9 ¥ diafie &1 sifare ot i #1 ufararg @t of
TR SR g W o o e U 4R SEieH Bl SR @1 81 § @ §1 I% 9 e A 81 R SR Ity el oiR Rl % ofgey 31 wey, 1S woue fmn Raffa e e, AR
faru o “wdlare @1 o afvar diear a1 I fages am 48l § ik 71 €1 31oe 81 &1 Tdae I8 § & 3iRd $iRd 7 32, §9 oA Jgi 39 Sriad &l Il 3@ &

Q.No: 46 Iuad Ty & Ha H 3R YT BT 9T PIforg-

A TAR Fgi AT Sae & Rl 91 Ry 3R W 9ga $5 R, IEiRie T S wRERie W 1R 31

B TART gHi 7 a1 ¥ 5 o uiddt 3 F g Y iRt v e HEa

c T g 4 3R UF @ iR R F iR (e =g o) Sl AIquareTe uRaR 7 it € 9 § RS9 iR ura B
D Yl T & A1 ot RRY wage fRturragef @ R1

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

g AR R 7T e H ugaR g e U & e IR IR AN fawed o1 99 Pif-

YR T & TR 1 Rl wame ey 38 71 SRy ver 3 S/ wiic 7 T ¥ A Aoue | I @A F T B 9dl F AR Y oS 3o Tedl Bt B, 76 3% A O oo anf 3t Qe ynla @
SR I R ST waar 31 eid: IR gdad & o dh g R oS amal & o off Iash g3 & ok R eruwe B, Y Tgt aR w=A &) ufd oA A A man dewy ARy € 39 aR A 96 e
el 3 Rufar iR ymifal 93 To RIFT, IEds g Sl TR W Sneifd 31 T € o SRt € dniifers Rufa & faR (ot 50 ) a8 arquares oRar & @i @ gia § ok 33 sffer mw €13
I U o 6 SRR €f8 37 Rl @ Yaifed rdl 71 7R gui g7 w1 § 5 o ufded 3= & srmigaRr 3 oo Wi A 9% 71 iR o sifvare ufed 3t ) aRarare 9 o
TOR S g T o ol gl St G SEle &Y SoR 3 §1 § @it €1 ug 99 =gl amn 81 RiFl ok el weRisit ofR fRufad! & sy 31 wen, i apure fawn P fbe o, R
fot &5 wiare’ &1 o ufkar dre1 a1 g e am 78 8 iR 7 31eie 89 31 Hads U6 © & 9Rd oikd 7 %3, B9 U 981 39 Siiad $I 99 38 3

Q.No: 47 Iudad =R & e A FH-91 S qui: T 87

A YRl TS & AR @t RURY Tage faumragyf w31 Sepfa e S S wifdy 7L AFn T § o dieus 3 S e@er we1 T g

B YR T F TR 3 R e Ryl 3§ 1 SRl vy & SR s w TR @ @ Aeuy § 99 vk FE e

c YRR A F T R we Rktmiregel W 81 i vy @ S i 7 T @ <6 diee ¥ I e el gl

D YR T B AR @t Ry wage faRtumragyl 76 3@ ) Sl v @ SR e A T § R deuy | S eEar T8 9 T g

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
= <R o o TR 1 ugeR g T U & 9ed 3 IR I fdwed #1 9 ifvu-

R TS & TR @5t Ry weme gl ¥ 31 SR uer @ I iRy 7 T R A Aode ¥ I @ gl T B Rl F WaRl 1 oIS 3o 1o Bk 8, 7 3% A @ go ol 3t Qe wla @
SEIaE! 9 I e ST addr g1 ofd: FRufY gdaq & w it @ g Rl &S e § o oft el g% % ok famm srue B, Fifes ael o) vkA @1 ufdedt o & S m dewy wHeRIGrg @y 39 aR # 96 )
ol 7t Ry SR Ty 90 o WM, AQIie 9 i wReRrel TR Sneiid §1 T & o SR Te & i Rl F e (Rl a7 od Argeeiere uRar # w € 9@ § oIk 39 sfileR wa €1 9
I Rl T E TTeRIRdT 2P g faftmTarell @ Yaifda $dl 81 TR gHie g7 a1 § 1 g ufdnf 3 & s 3 orelt wifd wm 89 ¥ diiafer @1 sifdare ofded 3 @1 ufararg @t of
TR SR g SRt o S SR St Gfek SEe Bl S Bl 81 § O §1 7% e fae am 71 Rl SR et wemRiel oiR fRufdl % ofgey 3 ey, o8 woue fmm fuffa e fa, e R
fu & “whiare o1 o aRar disar a1 wmifse faue o = § o 71 € ofeie 81 &1 Ao 98 § ¥ 3iRd 3ikd 71 32, B9 307 Tgi 39 3<Ia & 9al 38 8l

e = 7 T PR N D 2D e 3
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XYNPIX H [T#UC1I™EA H X @I1=X11 XIHI B
Q.No: 48 e &

A ST N
B TEY THH
C g TN

D ey v

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

= i T U TR B UgeR g T U & 99 SR IR A [dded #1 9o -

URAG Tare & TR 1 R Tama eyl & 31 SR ver 3 S/ wfd 71 T ¥ A Al | I @A Fel T B A F AR 1 oS I TN Bt 7, 75 I A O Fo au 3t Qe wla @
STIaE! ¥ I feemar ST Tt g1 od: Ry gdad & &t W u Ry &S A & o oft Ioht g3 @ ok Rwn e B, Fifes el wR vkA &1 ufdndt oA & S mam dew wHoRinGrd € 39 R # 6 )
Rl 31 Rufar SiR wifl §gd $© R, IEIte 7 SR RSl TR SMeiid 31 T 8 o iR 1@ €t Hiiifve [Rufd & Hfiw (5 50 ) F8 Tquad® uRar | i 8 9 § 6k 9¥ iR i §13
I TR TrrIomes X6t IrTeRIGT =R 3 faftrarsht & Xaifea it 71 e0RT g g7 a1 € o o ufdef) Axif & Smrgetor &1 oot wifd 7 89 €1 diaRe o1 sifdare ufded 3= S uRararg it of
TR O g} TR e o SR St 9f e @1 oo &) B H & 31 U8 e fawme A 31 Wikl oiR wdta vt SiR fRufadl & orfey 3 ey, @ig Ao famm fuffa fu fan, e R
ot & wiare &1 3 ufkar drg1 a1 grfvie fues @ 1 § ofR 7 @ f1oie 1 &1 Haae U8 § & 9ikd oikd 71 %3, 89 30 981 39 Sf<iad &I 9a1 38 ¢

Q.No: 49 F=fifad & I dwg WIsg &1 997 FIRT-

A et
B TR
c o
D el

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
e - e e w1 ggaR g U Ul & e Ifd I arl fawed &1 9 Sifene-

R TSt A R Ry e Rk gt 1€ 81 gwpha ver 3 I ik wEn T @ @ e A I swar del T 1 Wl & GwRl @1 518 3o Tedt gt 8, 5 9 7 Al po anl 3t el wita @
SeIaEl 4 3 foaml o gl g o: FRuf gdaq € & 1 g Rl o amen § o off el g © ofRk faxn orue B, Fife aei &) vxA &1 ufdt oA & @ T dey IHeRiNGd €Y 39 aR § Tl )
&t 1 fRufy SR Ty g $o WM, TEIiis 3 S rmRrsl W iid 81 T & orf SR T € Uit R & 1faR (et wroa ) el Aigeaers uRar & w € giea § ok 39 fieR me §1 9
I Rl Teroe | TeRIRGTd =R 3 fafterareht @ Yaifea Sl 31 7R gHi 17 @1 § 6 o0 ufdef) Ot & smrgevr @) ot wifd AF 9 §) Al @1 sifdare ot 3 @1 ufvararg @t of
TR SR g Tt o o e U Gt e Bl SR 1 91 B O §1 I% I fRRTe am 71 R SR It Rl oiR Rl % orgey $1 aed, g Foue femm fuffa e fan, AR
ot 5 wiare &1 31 ufkar drgn a1 amifore fages @ 8 § iR 7 @ srong 99 &1 Hade U6 © 9 9iRd SiRd 7 ¥R, T U U1 39 SiIad & 99 3@ 7

Q.No: 50 & 7% foufda @1, &, 3t ; 0, %, & ; 7, A, 7 Ffera § & fow one o1 o2

A GaI PRS

B Y PRP

C ST FRE
D TUEH SRS

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

A R T U T i UeeR U@ T Uk & e S IRt [wed @1 9o Pifu-

URAG T & T 1 Rl wame el € 31 W ver 3 X 2ifda 7 T R A Ave ¥ I @A Hgl T B el F WSR Y 91S o Mo B 7, 76 IR A A Fo o 9t Qe ynla |
SR & 3% feamn ST gedt g oid: R gdad & &+ 38 ae Ry 35 wme § o off Sash g5 § o Rz s §, i Tt o) wkA &) ufdet oA A S manl dewy IRy € 39 aR A 96 <
el 3 Rufa iR ymifa sga To RiFK, Igeiie @ Sida wReRms W onefd 31 o € o okt & diniifere Rufa & e (fadt Toa 8) o8t orerere oRar & i & giean 8 ok 38 siffer ua €13
I TR TS Xt TuToRIRATd € 37 RfvTarsit &1 Xaifed Fdt 31 TR g1 g7 51 § o o0 uftnd) =it & Smurgeor 31 St Wi 7 89 €1 e &1 sifvare ufddt 39t @ uRarare 9t of
AR S g Tt e om e S 9K oo 1 e 3t i # @ §1 I5 e e A 71 vk SR Il wRrRiail SR Rl & orgey Y ey, S woue fwn Ruffa i faen, R
ot 5 wiare &1 314 ufkar dre1 a1 g faues a1 § iR 7 @ 3f1oie 9 &1 Haad U8 § [ 9iRd oikd 71 %3, 89 A 981 39 Sf<Iad 3 9e 38 ¢

Q.No: 51 I e & STHR, TR gHiT T5 a1 & fp & STIHRO] BT AR T A S
A ufdeh & &
B afyedt S &
c of3ed i &
D of3edt Tt &

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

=T S B UgaR TY T U & 9a9 Sid I<R A fawed &1 79 Fi-
30 g HYAY I TR
TRl ugd o faifast @t fireran e wewIl
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/42
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TR AR T [T R g1 v FRRal Al |
foea! Siiad g -1 SAGH IRTI

Y Teg A vE ruR-zhaa Aag gk weRi
I T O ok g frd-wme s e wrn
R 3 & STET-Sd SEl W HET Il
G THN S BI-UIER gl fFRII

TH-HH T IN FR-HA gapd! g@ W

TR $Hd TEA-S1E- SR T R AR

Q.No: 52 frfafa & & 30-Fw & T SEdR S §2

A TS IAPR
B TAD DR
C Y PR
D SN e

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

T oA $1 TgaR IS Y WA & Fed Sfd IR Tl faded 1 99 Hifei-
SREUT U8 YT < SR

SIEl UgH S fafdret P et U HeRIl

T AR TH 3T |- X6 % R AR
et siiad sRardt -0 $uHd IR

Y PRe A v TOR-iad Ty R Wl
Isa @ o @R He v Ais Fe o
RN G F FTed-aTd Tel W FET
TR TR 3d HI-UISR el (PRI

R-FH A IW TR gawd g@ R

TR S0 TE0-98-SR T R AR

Q.No: 53 Fu 3 = # § feraet weltw R 82

A Jrurg
B i
c SYBR
D Bt

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

1 Proai B ggeR g U U & JeR IR IR 9 fawey @1 99 Fifve-
SREU] UG AYHY & GHRTI

STeT uga ST A i fier t@ weR

T AR TH {31 - X6 7 R 7R
feat Siia gRamdl WR-Hre FHGH IR

Y T ¥ 19 TER-Tae 7ed Wk FoR|
I3d T For Sik Hg ford-wm s A wr
R 3@ F aTee-ad SRl WY H00 Sl
R TH 3 F-uraR et AR

TA-FY A ST IR-1Re gapd! @ W

HieR $UA TA-SF-SR T W AR

Q.No: 54 Iuded v=iw & Heuf ¥, Yex vd wR 3 § PRl gan v 82

A wiiad U4 ¥g yad
B e gaq

c e uad

D
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g
Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FE: T B UgHR g MY U & T IR IR a1 fawed F1 99 Fifoe-

SR I8 HYHY A GARII

el uga o Al 1 firern ue WeRIl
TR AFRY TTH AT R-1 ¥ av e 7R
e S givarh -5 $HHH IR

Y FReg I 19 TuR-Tae Aad GHR TR
Isd @ for iR He frd-wm s e wrl
TR 3G F G-I e R FE
R TR 3 F-uIeR el AR

F-FHY A IV TR gaawdl g@ W)

TR FHEY Q-SSR ToF 4R aRII

Q.No: 55 fafafea & 3 ffaw o1 aref @ 2

A 98 WM wE] waR & e g 3 {1
B g WM Wil Aol & G e B1
c T6 WM el ¥ A9 Ud defie o gRena okl 31

D T W W1 quft 3R S i forrg 33§
Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

ST DI B TR P T T & 99 S1Id IaR A [aded BT 99 Hiford-

3R] YE HYHI oI GHARTI

el uge et faifit @t e T weRI
TR TR T T R 381 ¥ e 7’|
e S givard W-HTa $HHH IR

Y YRy § v woR-ad Aoy 9Hk "6R|
Isd G o iR e frd-ung s e wRn
ST S8 F qTEd-a1d 9RT W FEOT @l
R TR SFd FI-UHR el BRI

FH-HY o I YR-HCH gaddt 9@ W

TR $UA -SSR T R AR

Q.No: 56 fwRifEd & A PH-91 sa a1 &1 yafgar 76 82
A W

B T
c o
D A=

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

=T B B g YP T UL & a1 3Rd Ik adl [dpey &1 =9 Pire-

3R g HYAT I TN

STl U 3T faferst o fRreTar U TeRIl

T IR TH faHT R 36 a R AR
et Siam gitardt wR-dma Faga IR

Y FRYF | 49 TER-TNae 7ad Gk FeR|
Isd @ for iR He frd-wg fis 9wl
TR G F ared-ad el W FE0 Tl
TG TN ST BT gl BRI
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TH-TH A I9 TR-HRC gawdl g@ W
TR U TEd-S-SATR Tt R aRTI

Q.No: 57 fmfif@a & 9 fvw wrsg o1 wam Sudaa il & € fvar man &2

A R
B I

C FE
D A=FR

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

FE=: BTeA P UG IS T UL S Fed IR ek drel fdebed 1 =07 HIC-
3RS0 Yg HYAT < §HRII

STET ugd oo R 1 fiveran g weRl

T TR TH faHT R 36 e R AR
et Slia gl WR-HiTe FHGH IRTI

Y g ¥ 7F reR-Taa Aad gk SR
Isd @ o iR He frd-wg fis e o
TR G F qTed-a1d TRl W FEOT @l
TR THR 3 PY-UIHR SRl AR

BH-FH T U FR-HIA gawpd! @ W

TR S GA-9E-SR T WR AR

Q.No: 58 HRTRT “Wwafqal Hem1” &1 et 7 F wam aref &2

A TG Webe Bl
B TE-3E B
c AT ARAT

D @ W 7 Fren

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 59 = # q fguifde s=4 foera, T St iR Feia & spensa
R I B

A IS, TS

B forege, o

c T, faega

D Ffsa, Gfm

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 60 3% 7 & Sudifidare 3reg &1 wet o qamge-

A 3 & ot il o1 ot | ot fRrer e e
B 3 ¥ oife Al 1 0 X T fd wem )

C FH Y FH T B 5H A T R T |

D A I FH A B 4 T e R wrm uH

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 61 What should come in place of the question mark (?) in the following question?
2466858
45 + 18495 + 27 =7

Fofafad gy & usaras % (?) & RIME W 1 AT Iifee?
45 + 18495 + 27 = ?

735

735
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B 730

730

726
C

726

746
D

746

Correct Ans : B

Subject : Mathematics

Q.No: 62 What should come in place of the question mark (?) in the following question?

2467026
333 x 9+666=7 x 33
FrofaRed vy A nsare R (2) & ®F R F1 M 91Re?
333 x 9+ 666 = ? x 33
126
A
126
111
B
111
113
Cc
113
121
D
121

Correct Ans : B

Subject : Mathematics

Q.No: 63 What is the least number to be subtracted from 945 to make it a perfect square?

2467171
P QUf @ §F & fIT 945 I g archl Y SIS /1 72
16
A
16
30
B
30
24
c
24
45
D
a5

Correct Ans : D

Subject : Mathematics

Q.No: 64 At present, the ratio of the age of Maya and Chhaya is 6 : 5. After 15 years the ratio of their age will be 9 : 8. What is the present age of Maya?
2467227

T W AR SR BT B 1Y BT U 6 ¢ 5 71 15 I G1G SDY Y BT SAIU 9 : 8 TN WA B I g R 82

21 years
A
219
B 24 years
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/42
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24§

30 years
[+

309§

40 years
D

a0 af

Correct Ans : C

Subject : Mathematics

Q.No: 65 A game card is 100 cm by 50 cm. What is its perimeter?
2467493

T T 1S 100 Jit 7o 50 I §1 3T uRkfy 7 B2

300 cm
A

300 it

240 cm
B

240 ¥

425 cm
C

425 ¥t

500 cm
D

500 ¥+t

Correct Ans : A

Subject : Mathematics

Q.No: 66 v = g : . v Coy0
3169796 If x +y =0, what is the value of (x - 2y)? - (2x - y)*?

TR x+y=0, (x- 2y)2 - (2x - y)? BTHF R 82

9
A

9

3
B

3

0
C

0

-3
D

-3

Correct Ans : C

Subject : Mathematics

S T sr S
saexezeasst gromn =
1
A
1
5
B
5
C 7
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16/42
Page - 16



10

10
Correct Ans : A

Subject : Mathematics

Qe o8 Find the value of(@ T2)
Uﬁﬁxﬁ%ymnmﬁméﬁm|
62
A
62
g
14
B
2
14
86
C
86
11
D
11

Correct Ans : B

Subject : Mathematics

Q.No: 69 An angle is double its supplement. Find the angle.

2468056

TF B0 Th S GRS $T AT 31 0T I B

1200
A

1200

600
B

600

900
c

Q00

135
D

1350

Correct Ans : A

Subject : Mathematics

Q.No: 70 In a cyclic quadrilateral the sum of opposite angles is:

2468083
T Tpia TS F TR ol B AT B 8
Equal
A
A
Complimentary
B
RS
c Supplementary
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17142
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Ay

Unequal

SREA
Correct Ans : C

Subject : Mathematics

Q.No: 71 Solve for the unknown in the following equation:

2468374
8(x +3)+2=(x-2)2.
Frofafed wien § omma & i ga o3
8(x+3)+2=(x-2)2.
5
A
5
-5
B
-5
6
c
6
3
D
3

Correct Ans : B

Subject : Mathematics

Q.No: 72 A given rectangle and a parallelogram have the same area. However, many Class IV students respond the parallelogram has a larger area. How can a teacher help the students

2468528 their areas are the same?

& 3T gU omad SR THiR-IqyS BT SA6d M 8, W BE1 IV & ofe el Y I faun & ania-aqus a1 dawa oifte 31 Riees, Rienfidi 31 ug w0 # {59 TR Ggrd 3% 9% |

Using scale

A
R F wa R
Using a geoboard
B
FriiES & v &
Using a graph paper
C
Sfrerg (IH) G & T |
Using paper folding
D

BT HigA S W H
Correct Ans : C

Subject : Mathematics

Q.No: 73 A good mathematics teacher is one who-

2468595
TR 1 T 3T Rie I8 Tl § -
encourages convergent thinking
A
SfftreRe A Bt TR wea &
follows the same method always
B
TN T & A T e e &
gives only a lot of problems to practice with
C

ey B Riw Pawr w5 I TR 2w
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

18/42
Page - 18



D remains helpful, insightful and explain things well

TETaw, Saeyel Te ¥ SR el F ot TR wwen §

Correct Ans : D

Subject : Mathematics

Q.No: 74 Find the common factor in the quadratic polynomials x2 + 8x + 15 and x2 + 3x - 10.
2469997

firama aguel x2 = 8x + 15 SR 2 + 3x — 10 # SHAFE RIS F1d PR

x=-5
A

x=-5

x+5
B

x+5

5-x
C

5-x

-x=5
D

-x=-5

Correct Ans : B

Subject : Mathematics

(23;;'\’7‘;37256 Ina right triangle, one angle is 30° then find the ratio between acute angles.

Tk GHEIT e #, Tk @Iv7 30°% df YT IOl & e @l IeuId wAd AT

1:1
A

1:1

1:3
B

1:3

1:2
C

1:2

2:3
D

2:3

Correct Ans : C

Subject : Mathematics

Q.No: 76  Two numbers are in the ratio of 3:5. If 6 added to each of them the ratio become 2:3. The numbers are
2473413

3 Gt 3:5 & 3iura A 1 afe I @ Ul # 6 Siis R W SruT 2:3 B S 31 e §-

21,35
A
21,35
30, 50
B
30, 50
24, 40
c
24, 40
18, 30
D
18, 30
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Correct Ans : D

Subject : Mathematics

Q.No: 77 The Main Component of Curriculum development

2475403
T faHT o1 g8 ged
Educational objectives
A mm
B 1%(:T:;tem:
Teaching Method
¢ Eaekakrical
D All of the above
FWR F ot

Correct Ans : A

Subject : Mathematics

Q.No: 78  Curriculum does not include:

2475593
ureT=at d wnfde e R:
A Subject matter
T
5 activities and experience in school situations
T RuRdt 7 TRIRRE R sa
Topics from different concepts
C
faftr srqemomedt ¥ fawg
D Textbooks and teaching aids
Regor gerasd axqL

Correct Ans : D

Subject : Mathematics

Q.No: 79 The most possibility of guessing is

2475637

SITHF WA B TG HYS GG ... iy
A In matching type terms

EEich

B In true-false terms

3\
c In multiple choice terms
D Fill in the blanks

Rad ®RIFA WA
Correct Ans : D

Subject : Mathematics

Q.No: 80 What is the characteristic of an essay-type examination?

2475919
Fidy-yeR $ wlen 3 Qe w1 22
A Validity
B Reliability
fsrtaan
c Objectivity
e
D Depends on memory
sRiwRRead

Correct Ans : D

Subject : Mathematics

Q.No: 81 If

2480958
35 +48 = 47
23+34=18
15 + 25 =15

then, 11 + 21 =7?

afg

35 + 48 = 47
23 +34=18
15+ 25 =15
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dl, 11+21=7?

3
A

3

13
B

13

6
C

6

9
D

9

Correct Ans : A

Subject : Mathematics

Q.No: 82 Given interchanges: signs + and +, and numbers 12 and 9; then the value of 12 + 9 x 3 + 2-11is
2481021

R Y S (3u H Fee): R + R+, MIWM 12 R 9; W12 +9x3+2- 1H AT

3.25
A

3.25

2.75
B

2.75

3
C

3

3.75
D

3.75

Correct Ans : A

Subject : Mathematics

Q.No: 83 Given interchanges: signs - and +, and numbers 7 and 4; then the value of 15+ 7 - 4 is
2481037

T 7Y gexaet (3maw F ween): g - R +, SIRT@M7 R 4; W15+ 7 - 4 DIAA D

4
A

a4

18
B

18

-2
C

-2

2
D

2

Correct Ans : B

Subject : Mathematics

Q.No: 84 Wwhich is the least important in teaching?

2482475
Rigor & GaY 0 Aeaqel B A 82
Punishing the students
A T e
Maintaining discipline in the class
? FT H ST T Y&
C Lecturing in impressive ways
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THIGRITE ai®! & e

Drawing sketches and diagrams on the black-board if needed

b I S B A Rp-TS W R 3R T
Correct Ans : A

Subject : Mathematics

Q.No: 85  The correct option in M.C.Q is?

2482567 )
w1y # O Qe 22
Answer

A TR
Premise

B
TRER
Response

C
ufafsan

D Destructor

Correct Ans : A

Subject : Mathematics

Q.No: 86 What are the types of objective of teaching mathematics?

2482572
TG ygM & I e UPR & 9 §?
Educational, teaching
A e, Rigror
Cultural, Intellectual
° e, e
Disciplinary, Aesthetic
¢ SRS, Sred
D Utilitarian, Psychological

'’

Correct Ans : A

Subject : Mathematics

Q.No: 87 Name the board which is used by teacher to teach the basic shapes of geometry?

2482632
I 9IS FT A1 FaRY ot Suan e S F nuRAg ATeR RRaM & fie #3d 82
Geo Board
A
el o
Abacus
B
W
Diene Block
C
SR =P
D Stick Method
*e Ry

Correct Ans : A

Subject : Mathematics

Q.No: 88  To be a “good” mathematician one must be able to

2482662

T 38" O o4 & fert fbdl bt wer 2T =i1feu

understand, apply and make connections across the concepts
A SEYRUTST P YU, ARLF IR Tale 91 & g
5 master the techniques of answering questions

Fard! & Sa &1 It ab-id | HERd SR ST

memorize most of the formulae

C
Mibcaskiei ok cacc Y

D solve the problem in no time
D ¢ 9T B 9HET B g B &

Correct Ans : A

Subject : Mathematics

Q.No: 89  which point is not included in the professional skills of a teacher?
2482717

Rietes & WR Pz & F W fag wfda 74 32
Self Knowledge

A
ST I

B Dedication
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gt

To experiment well

C
3BT VAT BT

D Satisfactory Knowledge of social matter
IS AT 1 HaIyore

Correct Ans : D

Subject : Mathematics

Q.No: 90  Meaning of the word ‘Heurisco’ is

2482741

TR eg BT 2 B
A To know

CIGEI

To think
B

el
C To learn
D To discover

BT

Correct Ans : D

Subject : Mathematics

Q.No: 91 What would you do to prevent environmental damage?
2469358

TTaRuit &if B e & R o @ B2

Reduce, reuse, recycle

HH IUGNT, GH: SUGRT, T: THUl

Land filling
B
4 R\
Deforestation
C
ol Bt werd
Industrialization
D

Sreinfieor

Correct Ans : A

Subject : Environmental Study

Q.No: 92 Ozone hole is a:

2469506

e fsg @

Hole in the atmosphere
A

TR F fw

Hole in the Hydrosphere
B

Viawed A g

Hole in the troposphere
Cc

gryvsa & fox

Destruction of ozone layer
D

IS TR T T

Correct Ans : D

Subject : Environmental Study

Q.No: 93 Which human activity can decrease the oxygen levels present in the atmosphere?
2469746

g 31 g TR gRT argrsa # SufRiE Sfigiivr &1 YR &1 & Ul 8-
A Deforestation
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5 Ol 3 e

Animal hunting

B
SR BT RIBR
Mining
C
T
Aforestation
D

U @I
Correct Ans : A

Subject : Environmental Study

Q.No: 94 The co-operation of maximum number of people by the environment is called-
2470175

iR ¥ gRT i il @) Ge Bl GeinT Hed 8-

biological potential

A
Sif¥e fava
pressure capacity
B
qg &l
population size
C
ST PR
environmental constraints
D

TR SaRiy

Correct Ans : B

Subject : Environmental Study

Q.No: 95 At primary level, EVS teaching is based on-
2470296

WA TR R, $die R sneifd 8-

Theory only
A
Faa figid (AR siFrelt)
Theory cum practical
B
o 7w HfFewa
Theory cum activity
C
R A TR
Practical
D
HFewa

Correct Ans : C

Subject : Environmental Study

Q.No: 96 Which one of the following levels is not related to the affective side of Bloom's classification of educational objectives?

2470497

e S F <@ F TR0 & WA vy FE F § S 9 W G4 11§

Organisation

IR
B Knowledge
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I+

Receiving
C

SR

responding
D

Sfeman

Correct Ans : B

Subject : Environmental Study

Q.No: 97 How does the antibiotic Penicillin work against the bacteria?
2470787

wharfRs ARRRA Iifvar & e 9 o o=ar 32

Stops the growth of bacteria

A
Fef & R 3t It &
Act on the nucleus of bacteria
B
et ¥ S W e R
Blocks the bacterial processes that build the cell wall.
(o}
ikt PRy &7 arelt Share wftraredt @t e 8
Enhance human immunity
D

e wferen # qfe

Correct Ans : C

Subject : Environmental Study

Q.No: 98 Owing to the conditions of high temperature and humidity, the weather becomes rather oppressive during the day. This is commonly known as;
2471961

I AU SR Skl @) Rl & R, o7 & wry Ui F19) srRrea 8 SaT 31 3 TR W 39 WY & SHT 96T §;

Kaal Baisakhi
A

P ST

October heat
B

SR T

Bardoli Chheerha
C

SRS BRaT

Monsoon
D

A

Correct Ans : B

Subject : Environmental Study

Q.No: 99 A carnivore with stripes on its body moves very fast while catching its prey and is likely to be found in

2471963
U IRR TR I Gl U HRRRY 3 RIGR Bl Uhsd TH 9gd doil I 3 9gdl § 3R 3UP UIY SIH &I UG &
Polar regions
A
et &t
Deserts
B
RSy
Oceans
C
TEEFR
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D Tropical rainforests

JuHiesg auiaT

Correct Ans : D

Subject : Environmental Study

Q.No: 100 CFC continuously generate which radicals into the stratosphere and damages the ozone layer

2472101
Tuhd TR THAY H8T & B A WA AT FRa ¢ IR IS TR 1 JHEH Uga §
Nitrogen dioxide
A
RIS STReiiRES
Peroxy acyl nitrate
B
Fieft T e
Carbon dioxide
C
P SRS
Chlorine
D
R

Correct Ans : D

Subject : Environmental Study

Q.No: 101 OQut of the following, which bacteria is oil eating bacteria that can clean up oil spills in sea?

2472115
ol & S a1 ofar da @™ arar shary § St wgx # Hd 99 5 6% IR GHdl 82
Coliform
A
Eanieat
Alcanivorax
B
ECaEE G
Thiobacillus
C
e
Streptococcus
D
Rucacat

Correct Ans : B

Subject : Environmental Study

Q.No: 102 The Mundas and the Santhal of Chota Nagpur region worship which trees?

2472462

BleT AR & & T iR T 59 U8 3t gon a8

mahua and kadamba trees
A

TN IR FEI S U5

tamarind and mango trees
B

T IR o & U

peepal and banyan trees
C

e R T ¥ I

banana and coconut trees
D

A IR TE F IS

Correct Ans : A

Subject : Environmental Study
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Q.No: 103 When one organism takes advantage without affecting the other living organism then it is called.

2472797
et <gareht Sfa @ wifia g R o1e o Sha @ dar @, o Sean 8-
Parasites
A
TRl
Partner
B
weurtt
Parasite (mritopjeevi)
C
EoiEEic)
Symbiosis
D
Teidt

Correct Ans : B

Subject : Environmental Study

Q.No: 104 In how many technology clusters DRDO’s lab has been grouped?

2474043
DRDO & ANTRITe &1 forat et wgl & wagiod fawan ar g2
14
A
14
10
B
10
7
c
7
5
D
5

Correct Ans : D

Subject : Environmental Study

Q.No: 105 Which of the following is the first U.S. mission to collect a sample from an asteroid?

2474046
PrafifEd & A 39 U &aie I THH1 UHF S 9re Ugan 4,09, fARE 82
AMICUS- REx
A
AMICUS- REx
OSIRIS- REX
B
OSIRIS- REx
REXIS REx
C
REXIS REx
OTESES REx
D
OTESES REx

Correct Ans : B

Subject : Environmental Study

Q.No: 106 Plants contain nearly __% of water by weight.
2475859

qedf A qoH F U I @ __% il far 7
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A 10-20

10-20
40-50

40-50
80-90

80-90
30-40

30-40
Correct Ans : C

Subject : Environmental Study

Q.No: 107 Soil can also be termed as which of the following?

2475980

ot o1 frafafea A 3 =1 oo o1 9% 87

Skin of the earth
A

g i @

Sheild of the earth
B

T4 B o

Surface of the earth
C

7 A T

Shadow of the earth
D

o i TR
Correct Ans : A

Subject : Environmental Study

Q.No: 108 When was the first World Cup of Cricket played?

2476456

fopdre @1 UBan [y H9 9 @ar T U1

1975
A

1975

1985
B

1985

1965
c

1965

1945
D

1945

Correct Ans : A

Subject : Environmental Study

Q.No: 109 Who is the author of the book *Emerging India: Economics, Politics and Reforms’?
2476467

‘gffT ¥R 3o, tivfea ¢ ReiRf THe & dus o 32

Stephen Hawking

R glbT

B Bimal Jalan
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[EECEIIE]
Bal Gangadhar Tilak

M TR foas
Mahatma Gandhi

TETe e
Correct Ans : B

Subject : Environmental Study

Q.No: 110 Where is the headquarters of the National Jute Board established in India?

2476615
YRd H T Yew SIS BT AT FEl 87
Bhopal
A
o
Mumbai
B
i
Kolkata
C
EasEan|
Bhubaneshwar
D
YR

Correct Ans : C

Subject : Environmental Study

Q.No: 111 What is the national game of Bhutan?

2476644

e $I TP Qe R/ §?

Cricket
A

fivdpe

Football
B

pesia

Hockey
C

gt

Archery
D

et

Correct Ans : D

Subject : Environmental Study

Q.No: 112 What teacher needs to ensure while using the project method?

2477330
IREST TSR BT IR R e e B R S B e 87
must ensure linkages to syllabus and curriculum
A
UISEY Ud UTeeal & Y i sig grft
will need to ensure authoritarian learning environment
B
SfFFad S ¥ AEE @GR F 3 srazadar grft
C make sure shy and introvert children should not to come forward
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G B s wffar iR sfarfelt o= o 7 amg

will be required to have a very clear time plan that should not match to the school timetable

TP Sgd ot T THY TSI $i Sa=aehdl oiil ot Jeal &1 w0d FiRelt I A 781 @ 1 91
Correct Ans : A

Subject : Environmental Study

Q.No: 113 Which learning process is most effective in EVS?

2477390
TR sieEd | S I S 1 wiva wed oifde w2
Indoor based learning process
A
43R s iR ) wida
Homebound learning process
B
W H O ot wfar
Outdoor based learning process
C
ST enRRa e @t wigsar
Audio based learning process
D

3o ST SiftrTA 6 wichar

Correct Ans : C

Subject : Environmental Study

Q.No: 114 Institutional learning resources include:

2477397
ST Rieror wrnert § wnfde
Bank, Hospital, Universities
A
%, sreqare, fyfeenaa
River, Pond, jungle
B
A, AT, S
Newspaper, Television, Radio
C
FARR 1, Teitfaed, e
Pen, Chair, Carpenter
D

FeH, FH, 6%
Correct Ans : A

Subject : Environmental Study

Q.No: 115 The Ozone thickness is given in terms of what units?

2477828
SIS @1 AieTs o 3Prsdl & w4 § § &t 82
Dobson Unit
A
Sioer e
Ozone Unit
B
Sl e
CFC Unit
C
et e
O3 Unit
D

03:‘@3
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Correct Ans : A

Subject : Environmental Study

Q.No: 116 Which part of CFCs react with Ozone in the atmosphere?

2477839

.U BT B T YT AgHST § S & @y Hfhar et 22

Chlorine
A

FNA

Fluorine
B

RINA

Carbon
Cc

P

Hydrogen
D

CEEiEs]

Correct Ans : A

Subject : Environmental Study

Q.No: 117 When was the Montreal Protocol made effective?
2477841

Hifaa Meeta B oa any faar wn ur?
1985

1985
1987

1987
1988

1988
1989

1989
Correct Ans : D

Subject : Environmental Study

Q.No: 118 Which of the following has CFCs contributed to?
2478055

1. Global warming

2. Ozone depletion

Choose the correct code

rafefaa & 3 fhue g d.uw. . @1 der g2
1. fageardt Swrar

2. 3feiA Redidzor

T PIS T

Only 1

Fad 1
Only 2

Fad 2
Both 1 and 2

g1 eiR 2

D Neither 1 nor 2
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Far 1R 2
Correct Ans : C

Subject : Environmental Study

Q.No: 119 Continual aspect refers to the assessment of learners’ progress on various aspects from the very beginning of instructions, sometimes referred as
2478716

Fad e A aed N 3 oo I & Rl wegel R A A iR F oeam I, PR s swwmrel

Placement Evaluation
A

RIFH i

Formative Evaluation
B

D T

summative Evaluation
C

TS Hedi

Periodic Evaluation
D

el gedieT
Correct Ans : A

Subject : Environmental Study

Q.No: 120 Annual tests or Unit tests are examples of which of the following kinds of assessment?

2478738
e Tieror ar $pTe TRIA FEfafEd # 3 59 TeR & oiee & IR 32
Formal Assessment
A
Suaie geaie
Objective Assessment
B
TR qeihT
Norm-referenced
C
e Heffa
Criterion-referenced
D

5wk
Correct Ans : A

Subject : Environmental Study

Q.No: 121 Children character obtained from parents -

2473555
rerT-felT & STt B O U g 8-
12.5%
A
12.5%
25%
B
25%
50%
c
50%
75%
D
75%

Correct Ans : C

Subject : Child Developement
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Q.No: 122 At the time of birth the child is

2473594

T S I S0P A ...

social being

I ol

Anti social being

ST wroft

Egoistic

IEBR

Religious

e

Correct Ans : B

Subject : Child Developement

Q.No: 123 The process by which a person internalized of social values is ----

2473681

or wftran % g iy AT Hl BT ST FRATE TE R -oveve

Rationalization

[EEEcau

Socialization

TSRS

Re-socialization

grimToERor

Assimilation

SHHATTH T

Correct Ans : B

Subject : Child Developement

Q.No: 124 What do well planned assessments allow students to demonstrate if the teaching has been poor?

2474288

SR LTI 3BT TeT 81l A e ST B 71 Teiid F i sgafa gar 82

the students have achieved the required learning outcomes

BHEl 7 Az e ke we w1 mr §

they students have not achieved the required learning outcomes

BT ez Rigqor aikea e & frar g

the assessment was very difficult

JHIHE Tgd PieA Ul

the assessment was very easy

T Sgd M U

Correct Ans : B

Subject : Child Developement

Q.No: 125 Which of the statements is incorrect?

2474449
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Specific parental practices and attitudes are correlated with particular child characteristics

A
ATdI-fran & ffig 7aeR oIR TR R s sl & W Tedes g §
Child rearing is significant for children’s educational achievements as well
B
st M SRl F g +ff o= 1 areE-diw wewgef §
A child tends to imitate the models in his environment
C
T 7 B U TR § S B AHd 3 B g ad
Authoritative democratic parents will lead to distrustful children who are less exploratory
D

RS Tt Aa-far syl =t St 571 &3 it H7 st gt

Correct Ans : D

Subject : Child Developement

Q.No: 126 Which psychologists or linguists suggested that thought is totally determined by language?

2476119
g FaRTe a1 HTIfaE 3 Fare & § b I qufa: wi & gri feffa g &2
Piaget and Vygotsky
A
foie iR fariret
Skinner and Chomsky
B
PR iR aferat
Chomsky and Vygotsky
Cc
It R e
Sapir and Whorf
D

TR &R =rb

Correct Ans : D
Subject : Child Developement

Q.No: 127 Child-centred education involves

2476227
a1 S e A it ¥
children sitting in a corner
A
R 3 7=
learning in a restricted environment
B
wfieifie arareRor # e
activities that do not include play
C
R iR fomd S i T8 &
hands-on activities for kids
D

=1 ¥ g saeie Tt
Correct Ans : D

Subject : Child Developement

Q.No: 128 The pace of development varies from one individual to another, but it follows ......pattern

2476307
I BT TR TF A A g AR & AT el ¥, TR I8 ST B § ..... 3Pl
a toe-to-head
A
@ Td-3-Re
B a haphazard
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TP fogafeyd

an unpredictable

T (i

a sequential and orderly

TH UIRAIOG 3R UEH

Correct Ans : D

Subject : Child Developement

Q.No: 129 The idea of Basic Education is propounded by—

2476706
g e 1 fauR fbad gRI SR T T -
Dr. Zakir Hussain
A
3. wifeR g8
Dr. Rajendra Prasad
B
SREERIC
Mahatma Gandhi
C
AT et
Rabindranath Tagore
D

sy TR

Correct Ans : C

Subject : Child Developement

Q.No: 130 The DATB tests do not measure which of the following?

2476848
LA, wherwr Fafafaa & F feger A & B §2
Abstract reasoning
A
3 a6
Numerical ability
B
FoTS G
Clerical speed and accuracy
C
frftres 7y ofiR wtean
Emotional quotient
D

RECRICERIT: ]
Correct Ans : D

Subject : Child Developement

Q.No: 131 Which of the following is shaped primarily by an individual's interaction with the immediate environment?
2476857

1. Learning

2. Maturation

Choose the correct code -

Fofifad # 3 o1 e w9 S deiie TR 9 U Fie ) sl & SR T g?
1. AR
2. gRaear
@ IS A -
A Only 1
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Fad 1

Only 2
B
Fad 2
Both 1 and 2
C
Ml 1 9R 2
Neither 1 nor 2
D

Far1eRTd2
Correct Ans : A

Subject : Child Developement

Q.No: 132 Learning can be described as which of the following processes?

2476970
ftrm ) Frafafea & & fog wiba & wu 3 aftfa fea o1 gaar 82
Passive process
A
FAfera ufssar
Inert process
B
3ifia isear
Active process
C
by vt
Spontaneous process
D

A&/ Ui
Correct Ans : C

Subject : Child Developement

Q.No: 133 Ram never forgets the names of the people once he sees them written down. Which kind of a learner is he?

2477073
il & A Rl gU A & arg v et iy g foy e ot et @2
Visual learner
A
Burc Duce]
Auditory learner
B
3T SRl
Field dependent learner
C
&Fr-resell SHfTHal
Field independent learner
D

&7 arufiar siftrmrdat

Correct Ans : A

Subject : Child Developement

Q.No: 134 A child can be considered emotionally disturbed if?

2477573
T §= Bl WA T4 IR HHT o qebell © A2
Unable to learn due to sensory factor
A
WA RS S PR A # sl
Unable to build satisfactory interpersonal relation
B
HeRorTE UREING Hey R F s
[} able to hang out with peers
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gl & ar A § wam

shows general and pervasive mood of happiness

TR B AR SR S HAE=N P SR §

Correct Ans : B

Subject : Child Developement

Q.No: 135 Which of the following statements is NOT true about Severe Physical Maltreatment of children ( child abuse)?

2478258
PaRild # A $H-1 B g=i B 1R IRIRS FIUER (9 D90y 91 T G T 82
It cannot be a cause of Multiple Impairments
A
I TS &t 1 BRT e 8 Jepell
It can cause brain injury
B
75 TR B Hie HT BRI IS §
It can adversely affect a child’s learning abilities
C
g 7= 1 AT I drvgar R WG THE 14 TSl §
It can adversely affect a child’s socio-emotional development
D

g T & UHIRN- UGS RPN R Wied TG STd 9hdl §
Correct Ans : A
Subject : Child Developement

Q.No: 136 The teacher finds that N, a 6 years old girl child, has problems in independently performing the activities like eating, dressing and toilet activity. The teacher identifies this to t
2478295

fRféreT 75 Tt T 7 6 T 1wt N B @M, FUS Yo IR WA Srft ofafdt @ @ w9 § w3 F g g §) Rt 3@ ¥ P H T H U5 § T JbN

Cognitive Disability
A

YIATHSD =K

Visual impairment
B

= wiftar

Speech impairment
C

e iRar

Learning Disability
D

ST SRR

Correct Ans : A

Subject : Child Developement

24'\‘708311397 As per the PWD Act, 1995, a person with disability has to be certified by a medical authority that he or she is suffering from not less than of the disability.
ey sfifam, 1995 & SFER, R afdd 3 i Fw gr1 wmid e s ke & @ § 1 sRBLAd A I 7L B
20%

A
20%
25%

B
25%
30%

C
30%

D 40%
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40%
Correct Ans : D

Subject : Child Developement

Q.No: 138 Which of the following is the shortfall of the Bronfenbrenner’s Ecological System Theory?

2478940
e § 3 o1 SR & uhiRifes & Rigid 3t a0 2
Its inability to make the system simpler.
A
TR &Y RS I H TET el
Its inability to explain the complexity.
B
Sifeer @ ST TR H TP A&l
It creates more problems than it solves.
C
g 50 P 1 ga | S qHwng et e 31
Its inability to deal with simplification
D

WA § Fuea 7 srmar

Correct Ans : B

Subject : Child Developement

Q.No: 139 Conventional level of Kohlberg’s theory has __and __ stages.

2479270

Foal H Rgd FIRRe TRI__ R ___ Ru

1and 2
A

18R 2

2and 3
B

23R 3

3and 4
C

3R 4

4 and 5
D

43R5

Correct Ans : B

Subject : Child Developement

Q.No: 140 Which of the following statements is NOT correct by Sri Aurobindo for the progressive education?

2479514

SRR grRY e Rran % e Pl & 3 57 @ o 98 T

Education helps to bring out to full advantage, make ready for the full purpose and scope for the human life.
A

fRiem quf @y A & Aee F ], 99 oftaq & R ool 939 SR SR & R 3R et R

Right education helps an individual to enter into the right relation with the life, mind, and soul of the people to which he belongs.
B

wet e Te safe B ST Al & Siad, 7 SR 36Tl F WY el Hai T H 7eE et § f 98 Heia 31

Life has no purpose for an infant in its initial years of learning.
C

dad & TRR a8 7 Ry & Rig ofia o1 91 stxa T e 81

With great total life, mind, and soul of the humanity to which he himself is a unit and his people or nation a living a separate yet inseparable member.
D

AT 3 T Hyuf Sftad, T 3R e $ A, R R a5 Wi U b § SR Su 1 a1 I U S Afe s wewd 1

Correct Ans : C

Subject : Child Developement

Rahindra Nath Taaore alwavs nerceived education as a tool for
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e e gy s g s v . v s e e

Q.No: 141
2479549

Idig 1Y 3P A ghRM el FF F W TP IuS=01 & ¥4 § AT

Moral change

A
e afkadT
Economic change
B
e afvaeds
Cognitive change
Cc
TS UREdT
Social change
D

IS Saaa
Correct Ans : D

Subject : Child Developement

Q.No: 142 Learning of digits, alphabets, multiplication tables, etc. are examples of

2479808
vt <k, aofarar e, [oH SRET @) S e F IamRI B
Successive processing
A
SIS THHT
Simultaneous processing
B
TEBIAD w0l
Arousal
C
TG TEe
Attention
D
3aU

Correct Ans : A
Subject : Child Developement

Q.No: 143 The two-factor theory of emotion presumed that our experience of emotion grows from our awareness of our
2479993

UG & A-FRS Rigid 7 T fF TR Hi 31 3gyfd TR F Uid IRedhdT & §RT 34 St 31

Present arousal

A
APIRIS S
Past arousal
B
froeh e
Social arousal
C
I SeeH
Prediction of future event
D

ufysT it e Bt gEigae
Correct Ans : A
Subject : Child Developement

Q.No: 144 Which of the following systems restores and conserves energy and brings the individual back to a normal state?
2479998

Frofifed 7 3 S W1 5, Fofl TREU TUT TG AT § 91 AR 31 g (R § g: deran 82

A Sympathetic

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 39/42
Page - 39



g

Parasympathetic

B

R

Both sympathetic and parasympathetic
C

et SR g

Neither sympathetic nor parasympathetic
D

A IR IR T & wgedt
Correct Ans : B

Subject : Child Developement

Q.No: 145 Which of the following option is a difference between Piaget's and Vygotsky's developmental theories on a critical perspective?

2480270
PR # 3§ FH-31 e s iR et F Remes Risikd & 69t neagf uRkie 31 sim 82
Emphasis of a child being an active learner
A
T 7= & Fhpg Ruemdf 89 R oR &
Belief in the developmental perspective of constructivism
B
TR F e Rl 7 Ry g
Focussing on cognitive development and its individuality
C
AT T IR U FafRIeT W S $isd S
Association of social interaction with cognitive development
D

TS [P & WY I HIF HT IS gl
Correct Ans : D

Subject : Child Developement

Q.No: 146 Rita, a class VI student, previously a latecomer to school, starts going to school early to play badminton with her peer group members. This behaviour is due to
2480285

B Tl F BET AT, S Ued Wd A R 3t R, o0 Wewd-aug(peer group) F el & W Sefiie Qe ¥ AT et Tgd SHT TE B &l 81 3 TIER F IRU

Peer influence

A
FePHHT 7HIE
School rules
B
wa &
Teacher's advice
C
Rigr 3 gaTe
To reduce her weight
D

ST T FH FA & RIY
Correct Ans : A
Subject : Child Developement

Q.No: 147 Who among the following quoted the phrase stating that "Children are not empty vessels to be filled with knowledge"?
2480367

a7 9 fraT 59 T &1 Seyd fear Rrr 9 oo 1§ as) 39 9 1R 91 ¥ R @l w5 il ¥

Jean Piaget
S s

B Thorndike
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Gagne
C

B

Gestalt
D

e

Correct Ans : A
Subject : Child Developement

Q.No: 148 Which of the following is a novelty approach used in classroom teaching?

2480431
wa e § Fofafea 8 § SH-91 609 Sur wa fear s e?
Chalk and Talk method
A
e AR oo fafy
Textbook
B
TISAYEID
Lecturing
C
R &1
Smart board
D
e aS

Correct Ans : D

Subject : Child Developement

Q.No: 149 Which of the following personality trait shows the emotional development of the child?
2480702
1. The child attain social maturity i.e the ability of co-operation and sacrifices for others interest.
2. If their concern for the future creates disturbance.

e # F o W A q4v I S HaAHS [P Dl aRidT 82

1. 5= IR ORUEar 3 YT SRl § 3t o 9 B & fore wedhT ik @nT & erar waar @
2. afg ufew ¥ fom Suet af>ar v der St

Only 1

Fad 1

Only 2

Fad 2
Both 1 and 2

Hf 1 3R 2

None of the given options

feu e fimedt # § 2K T

Correct Ans : A

Subject : Child Developement

Q.No: 150 50-75 is the range of in Morons.
2480898
ARg # 50-75 EiksiE |
IQ
A
3y,
I.T
B
K EG]
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C Both IQ & IT

1Q 3R 1T gt

None of the given options

g g et 7 & 1 T

Correct Ans : A
Subject : Child Developement
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